1072 =

a(6 @) (rad)
a(d cot(B)

i
S
w

103k

.910—%_....!....!....!....!....!.... .910—%:.
T r : | : I E :
o L : : o e P
1_ """" D et Dt i 25 e : :
L : t : 0.95fF----+-- RERRERRE:
¥z =31 0 1 2 3 R

TP n (PCA to beamline)

2

1 3

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—— DQM_pixelCPEChi20R_step2_ttbar-phasel-newgeom

[any
<

- —
IS IS
G G
°e )
= ~
< -
° o
) 2
) [s]

10—2

Ratio
N
!

[y

2 3
TP n (PCA to beamline)

—
P
[N
<
-
o e
<
=
s}

107

1.2

Ratio

1.1

T2 73
TP n (PCA to beamline)

2 3
TP n (PCA to beamline)



	Contents
	Page 1


